Seare
PART - A

Answer any five questions. Each carries 1
SLOE, [Bx1=5)

. What is the value of ¢ in the fallowing
C— stasement. il the value of a = 16
andbh =47

c=al%b;

2, Pick oul unary operator from the
following :
[ == %

3. Which jump statement cun lmansfer the
program control w anywhere in e
funetion ?

[break, continue, gote, exil (1]

4 ~ istheprogess of converting
a program in high levei languape into
machine languags.

5, Which flow chart symbol is used 1o

represent decisinn making stement 7

6. Which i Ure Tust subseript o the armey
finat ml 5] 7

PART - R

Answer any nine questions. Each carries
T seore. (4x2=18)

7. Define the jerm debuggmg,.

&, Write any bwo hmitatons of lew chan.

(HHTRTR
Seore
PART - A
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aeymje. B erpad afide. 13=1=5)
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e 10 g0 b cpes ofle 4 fpe m
gt Cle ngums Ty, 7
c=ath

L. maers senymelidearmi afiorgs aymed
il RS |

e aalinaming
Sl s\l

s ange ol ngal pumf o nf g mom
it NN Ea¥ Ty o T Al
aagprme T

-

float m[5] g b T T
ey B gy ey T

PART-R
agEmEsleys aba il d.olom )T gemmna
Py, e amyod lime, (9=1=18)
7o ol agrn rize ol

8. o570 codeagemst ey padmyritesd
T T
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Seore

9. Mentify the valid and invalid identifiers
ameng the fallowing, Justify vour

answer,
a) ireq by 326
o thoan di flower

7i the following loken
vord, lieeral, ddenrifier and

hi 4.4
) swich dy %
11, WD s T wle Cconuments
1. rentiate the O+ operators

-—and —-

13 Write the vutpur of ullowing
ements, i the value of x = 5 and

¥=&
K &K (v 1 1)
ifhx>=2) {yv==3) iy

14, Consider the follvwing C-— statement
const float pi = 1,14,
pi = 12.5;

21 Tdentify the ervar in the ghive code, i

o Justity vour answoer, {n

L% What is ¢ use of defaulr slslement in
switch starement @

16. Define the following 1erms :
i) Traversal i1}
i) Borting (I

3.

Score

mand Bdnisamldien e mmgs

TS UT TS AT D g el

roEmrTd '@ﬂﬂ‘uﬁ‘mﬂ&ﬂrm}.ﬂqn:‘\&
RTINS Do Ul e

4] area k) 328

) Mot Jd) Hoower

miae asanaladlsnm essenmmisag
el S50, Rag i ifaom i, fonennd

2B e Sl
a) digir b 544
c} switeh d) %%

C— i safyencd YEEHEGOUIEEE TR
e apming s mmagy ¢

O mil s momops g — o - — g
ElERgE TG agyamye.

- MRS AT ool X e alle

3oy s ale 3 pe G SAGnyE
A

i =y &l (v = [0 i1t
i (x == 2j iy ==13) (L]

T dapograiifeam Clv ssoed o
VAT
const floar pi < 3] 4:
pi=12.5;
a) oudl R Aunagymm secodan amppEmb

i e in
b) eiemsas gotia g, n
switeh pacumetad defsult
WIS MDD S ROy Ty 7

e edoymitlainm wssmd mhgal

e
1) Traversal [
ki) Surting,. iy
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17, Write the output of e fliewiag C++
eondie
char nume[ 7] - “WELCOME™

iy gout <= name

biH
I} il == nan; L}
Consider the 1'nll_|;‘w1'ng. 4+ code.

chur sie[#] = “PROGRAM™
{7 What will be gtore in ke last loeation

18.

of the array str ? n
it} Jusiily your mswer i
PART - C

Answer any nine (uestions. Fuach carries

3 srwre. {4=3=17)
19, Define e failowing terns -

i1 Syntax errar i
i} Logical ermer i
il Runtune ermod (L]

30, Drraew the fiowehart for the algormhm
given below
Start

Swpl. N=1

131
Step 1.
Step 3. Repeat the siep 4 W 5
until M = =11

Trint 1

Step 5. N=N+1

Step 6, Stop

Swep d.

(TR

| Se0Te
17, maers @ sy D Skt
ALy
char na Wb LCOME™

. i
i L ol —< niuwme; [LH]
i )
char si¢|§] = “PROGRAM";
L) =ir LT UL
ure i agpmoanyty T (1)
i) orile oo uateym (1)
1 L-
I aggamBEye B
ngeymy. @Yt BTyES ¢ 1973=2T)
10, moE e, o eozeyil
it el
i1 Swniux ervos (1
Logical gmror )
fiy Runiime error th
(&3]
Step 1. Slart
Siepl Nl
Slep 3 Repeat the step 4 1o 5
uniil K== 10
Step 4. Printa
Sep s W-N+1
Step 6. Hwp
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Seore
THfferentiate entry contrul loop and exit
contral Joop.

2

22, Explain three logical operators in

C,

Dillerentiate betwees break and continue

stalernent.

13,

24

Caonsider the folluwing C++ code
=11

ifin=
cout < < “(ne™;

else il

cout < < “Fera™
alse

cout < = “Not a binary oumber™

Rewrite the code using swirch
stalement

while Toeop and doe. ..

while

6.

v ihe following C++4

Tol nd;

~ie e aove code using if .., glse

7. ¢

binary searching

gram 1o nccept §
= and print in reverse

21.

b8

13

24,

25.

6.

7.

18,

Scare

R nirfiasacd glﬂlﬁnrg-:p!o )
wtaEst ayglofage uymiomeni
gy

O g oy zuzedennt o A0QOLas
ayrl nf nlidient #e)m.

Break, continug agem? g

CLT AT )R T

s Syl il T CF eon ol
Tl
iftn == 1)

cout < < *Ohne”;
else if{n==10

eout < < Fera’
else

cotit = = “Not o bipary number™;
swilch imgonm gameailal @00
onalenT Gl oy FET

while, do, . . while agprd e sl womgoum

AT MG oI

man s rEifesyn - s
PN L5 i P T
big =inl =nl1?ul ok

it ... else puaporum geammouiay £
narilem ] agy s

s, eeanime olnoed Gl

O, [ERT N

ammony i mldle] midtan
izl e e O
Al 5003 r_gj.e’,;::\'gr-i-\.
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9. Consider the following C+= smatement,

inta[s] = {1, 2, 3,4, 53;

Write the vutput of the following

ande,

i} wout < < a0 (1)
i) cout =< al2] + a[4); (1}
i} eout < < a3~ a|0}; (n

30. What is Bubble sort ¢

PART - 12

Answer any iwo questions. Each carries
3 seores, {2=5=11N)

3L. Briefly explain the different phases of
programming.

32, Comsider the following U4+ cade.
for (i=1;1= = 10, ++i)
.
i
eoul << “Hella'"

]
L]

cout < < “End™;

How many times each of the following
stalements will be executed ?

a)i=1; {1}
by i< =10; 48]
o) ++H (1
d} cout < < “Tlello™; n
€] cout < < “End™; )y

(A
Score
29, mzay eacsemivilangmn O+ easnd
alBlingnfay e,
intal5]={1,2, 3.4, 5;

LELE Nt TR R T

ATFYS Ryt

i} cout = < alu]; {n
i) cout< < a[2] - af4]; n
iii) cout << a[3] - a|0); il

30, Hubhle sort agmant agr ?

PART - D
QUATEEIEYe 2eTTH 0.5107 e chael DT e .
el srpad aflma, (2=5=111}

3L epngnedlerda
[RAESTL TN

ST

AL, moere emasyl gloem O+ daand
rBlETilaeg
“fordi= Q= 10; =)
H

<ol < < “Hellg™;

i
coun < < “End™,

NI Bl DS e 2
MCUEM kud e o

a) i=1; [L}]
b) i< =14 i
g) +H il
dy coul < < "Hello™ 1)
&) cout < = “End™; 1)
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Seore
33 Consider o mareix m of 3 rirws and
4 columns as shown below snd
write C++ code for the fullowing
TeULrCMEils,

1} 1 2 3
|
5 i 13
I ] 14 ? 2
2 12 [ 154 13 | :J
1

i) To declere & two ditnensional arTay

Score

3 gy rurfleye most lnage fige m agom

s 3iSlgylam witflenaml aia sy o
PSS ST burporumenes O H+
20T g,

[

i m g mefieed sinom mec

furm i AU gy, m
i1 Tor prine the element 17, i ) Vingmm mmowssas ol esys. (1)
i) To print the last clement a1, 1) 1) 21 rﬁjmrmurmmrﬁm i
: rraRedly Tk, n
) To print all elements in the matrix. 2} V) amdglac PO e LT DT
130l [, 2)
_—
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